

County Distribution Detail Report through 11/03/2015

Auro	ra
------	----

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,292	1,826	2	3,120	\$3,900.00	\$87.59	\$3,812.41	0.70	\$2,668.69
							Entity Total	:	\$2,668.69
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,668.69
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2015	5,384	10,070	38	15,492	\$19,365.00	\$401.31	\$18,963.69	0.70	\$13,274.58
							Entity Total	:	\$13,275.46
							Adjustment	::	\$0.00
							Total Amou	nt:	\$13,275.46
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	986	1,042	2	2,030	\$2,537.50	\$58.12	\$2,479.38	0.70	\$1,735.57
							Entity Total	:	\$1,735.57
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,735.57
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,422	3,574	10	6,006	\$7,507.50	\$150.28	\$7,357.22	0.70	\$5,150.05
							Entity Total	:	\$5,150.05

Adjustment:	\$0.00

Percent

0.70

\$7,838.71

Total Amount: \$5,150.05

9/2015

3,173

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	10,582	19,185	72	29,839	\$37,298.75	\$759.23	\$36,539.52	0.70	\$25,577.66
							Entity Total:		\$25,577.66
							Adjustment	:	\$0.00
							Total Amou	nt:	\$25,577.66
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	13,029	24,629	166	37,824	\$47,280.00	\$997.40	\$46,282.60	0.70	\$32,397.82
							Entity Total:		\$32,397.82
							Adjustment	:	\$0.00
							Total Amou	nt:	\$32,397.82
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,805	3,479	4	6,288	\$7,860.00	\$163.35	\$7,696.65	0.70	\$5,387.66
							Entity Total:		\$5,387.66
							Adjustment	1	\$0.00
							Total Amou	nt:	\$5,387.66
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	624	361	1	986	\$1,232.50	\$25.89	\$1,206.61	0.70	\$844.63
							Entity Total:		\$844.63
							Adjustment		\$0.00
							Total Amou	nt:	\$844.63
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

5,960

16

9,149

\$11,436.25

\$238.09

\$11,198.16

							•		•
							Total Amou	nt:	\$7,838.71
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	866	1,438	2	2,306	\$2,882.50	\$57.66	\$2,824.84	0.70	\$1,977.39
							Entity Total	:	\$1,977.39
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,977.39
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	3,333	5,006	8	8,347	\$10,433.75	\$209.69	\$10,224.06	0.70	\$7,156.84
							Entity Total	:	\$7,156.84
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,156.84
City of Box Elder, M	leade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	55	11	0	66	\$82.50	\$6.33	\$76.17	0.70	\$53.32
							Entity Total	:	\$53.32
							Adjustment	:	\$0.00
							Total Amou	nt:	\$53.32
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	907	73	33	1,013	\$1,266.25	\$38.30	\$1,227.95	0.70	\$859.57
							Entity Total	:	\$859.57
							Adjustment	:	\$0.00
							Total Amou	nt:	\$859.57
City of Sioux Falls,	Lincoln								

\$7,838.71

\$0.00

Entity Total:
Adjustment:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	6,009	1,223	549	7,781	\$9,726.25	\$279.05	\$9,447.20	0.70	\$6,613.04
							Entity Total	:	\$6,613.04
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,613.04
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,671	2,420	2	4,093	\$5,116.25	\$102.35	\$5,013.90	0.70	\$3,509.73
							Entity Total	:	\$3,509.73
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,509.73
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,174	7,000	43	9,217	\$11,521.25	\$241.36	\$11,279.89	0.70	\$7,895.92
							Entity Total	:	\$7,895.92
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,895.92
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	9,555	18,154	55	27,764	\$34,705.00	\$723.55	\$33,981.45	0.70	\$23,787.02
							Entity Total	:	\$23,787.02
							Adjustment	:	\$0.00
							Total Amou	nt:	\$23,787.02
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,508	476	4	1,988	\$2,485.00	\$59.13	\$2,425.87	0.70	\$1,698.11
							Entity Total	:	\$1,698.11
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,698.11

Custer

Entity Amount	Entity Percent	Net Surcharge	Admin Fee	Surcharge	Total Lines	VOIP Lines	Wireless Lines	Telecom Lines	Reporting Period
\$7,365.38	0.70	\$10,521.97	\$241.78	\$10,763.75	8,611	24	4,641	3,946	9/2015
\$7,365.38		Entity Total:							
\$0.00		Adjustment:							
\$7,365.38	nt:	Total Amount							
									avison
Entity Amount	Entity Percent	Net Surcharge	Admin Fee	Surcharge	Total Lines	VOIP Lines	Wireless Lines	Telecom Lines	Reporting Period
\$2.63	0.70	\$3.75	\$0.00	\$3.75	3	3	0	0	7/2015
\$2.63	0.70	\$3.75	\$0.00	\$3.75	3	3	0	0	8/2015
\$17,232.08	0.70	\$24,617.26	\$520.24	\$25,137.50	20,110	138	13,227	6,745	9/2015
\$17,237.34		Entity Total:							
\$0.00		Adjustment:							
\$17,237.34	nt:	Total Amount							
									Day
Entity Amount	Entity Percent	Net Surcharge	Admin Fee	Surcharge	Total Lines	VOIP Lines	Wireless Lines	Telecom Lines	Reporting Period
\$5,250.15	0.70	\$7,500.21	\$153.54	\$7,653.75	6,123	3	3,446	2,674	9/2015
\$5,250.15		Entity Total:							
\$0.00		Adjustment:							
\$5,250.15	nt:	Total Amount							
									Deuel
Entity Amount	Entity Percent	Net Surcharge	Admin Fee	Surcharge	Total Lines	VOIP Lines	Wireless Lines	Telecom Lines	Reporting Period
\$4,326.06	0.70	\$6,180.09	\$139.91	\$6,320.00	5,056	5	2,789	2,262	9/2015
\$4,326.06		Entity Total:							
\$0.00		Adjustment:							
\$4,326.06	nt:	Total Amount							
									Douglas
Entity Amount	Entity Percent	Net Surcharge	Admin Fee	Surcharge	Total Lines	VOIP Lines	Wireless Lines	Telecom Lines	Reporting Period

							Adjustment	::	\$0.00
							Total Amou	int:	\$3,009.83
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,542	2,704	7	4,253	\$5,316.25	\$106.41	\$5,209.84	0.70	\$3,646.89
							Entity Total	:	\$3,646.89
							Adjustment	::	\$0.00
							Total Amou	int:	\$3,646.89
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	3,651	3,945	8	7,604	\$9,505.00	\$190.93	\$9,314.07	0.70	\$6,519.85
							Entity Total	:	\$6,519.85
							Adjustment	::	\$0.00
							Total Amou	int:	\$6,519.85
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,027	1,374	4	2,405	\$3,006.25	\$61.15	\$2,945.10	0.70	\$2,061.57
							Entity Total	:	\$2,061.57
							Adjustment	t:	\$0.00
							Total Amou	int:	\$2,061.57
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,831	5,168	122	8,121	\$10,151.25	\$228.55	\$9,922.70	0.70	\$6,945.89
							Entity Total	:	\$6,945.89
							Adjustment	::	\$0.00
							Total Amou	int:	\$6,945.89
Gregory									

\$3,009.83

Entity Total:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,012	3,526	3	5,541	\$6,926.25	\$149.61	\$6,776.64	0.70	\$4,743.65
							Entity Total	:	\$4,743.65
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,743.65
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,114	1,364	5	2,483	\$3,103.75	\$62.09	\$3,041.66	0.70	\$2,129.16
							Entity Total	:	\$2,129.16
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,129.16
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,082	3,486	7	5,575	\$6,968.75	\$139.42	\$6,829.33	0.70	\$4,780.53
							Entity Total	:	\$4,780.53
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,780.53
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,332	2,559	10	3,901	\$4,876.25	\$97.76	\$4,778.49	0.70	\$3,344.94
							Entity Total	:	\$3,344.94
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,344.94
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,097	2,845	22	3,964	\$4,955.00	\$100.34	\$4,854.66	0.70	\$3,398.26
							Entity Total	:	\$3,398.26
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,398.26

ria anig										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	761	797	1	1,559	\$1,948.75	\$48.70	\$1,900.05	0.70	\$1,330.04	
							Entity Total	l:	\$1,330.04	
							Adjustmen	t:	\$0.00	
							Total Amou	ınt:	\$1,330.04	
Hughes										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	5,386	14,222	101	19,709	\$24,636.25	\$525.98	\$24,110.27	0.70	\$16,877.19	
							Entity Total	l:	\$16,877.19	
							Adjustmen	t:	\$0.00	
							Total Amou	ınt:	\$16,877.19	
Hutchinson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	3,469	4,802	8	8,279	\$10,348.75	\$206.99	\$10,141.76	0.70	\$7,099.23	
							Entity Total	l:	\$7,099.23	
							Adjustmen	t:	\$0.00	
							Total Amou	ınt:	\$7,099.23	
Hyde										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	852	1,035	2	1,889	\$2,361.25	\$48.46	\$2,312.79	0.70	\$1,618.95	
							Entity Total	l:	\$1,618.95	
							Adjustmen	t:	\$0.00	
							Total Amou	ınt:	\$1,618.95	
Jackson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	773	821	0	1,594	\$1,992.50	\$39.88	\$1,952.62	0.70	\$1,366.83	
							Entity Total	l:	\$1,366.83	
							Adjustmen	t:	\$0.00	

Total Amount:	\$1,366.83

Jerau	ld
-------	----

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
			Lines					Percent	
9/2015	1,058	1,195	0	2,253	\$2,816.25	\$56.34	\$2,759.91	0.70	\$1,931.94
							Entity Total	:	\$1,931.94
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,931.94
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	629	644	3	1,276	\$1,595.00	\$31.92	\$1,563.08	0.70	\$1,094.16
							Entity Total	:	\$1,094.16
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,094.16
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,606	3,893	3	5,502	\$6,877.50	\$138.11	\$6,739.39	0.70	\$4,717.57
							Entity Total	:	\$4,717.57
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,717.57
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	3,146	8,988	19	12,153	\$15,191.25	\$314.99	\$14,876.26	0.70	\$10,413.38
							Entity Total	:	\$10,413.38
							Adjustment	:	\$0.00
							Total Amou	nt:	\$10,413.38
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	11,294	15,059	67	26,420	\$33,025.00	\$680.44	\$32,344.56	0.70	\$22,641.19

Entity Total:	\$22,641.19
Adjustment:	\$0.00

							Total Amour	nt:	\$22,641.19
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	6,958	36,359	186	43,503	\$54,378.75	\$1,142.15	\$53,236.60	0.70	\$37,265.62
							Entity Total:		\$37,265.62
							Adjustment:		\$0.00
							Total Amour	nt:	\$37,265.62
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,449	1,819	1	3,269	\$4,086.25	\$88.12	\$3,998.13	0.70	\$2,798.69
							Entity Total:		\$2,798.69
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$2,798.69
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,092	2,675	9	4,776	\$5,970.00	\$122.13	\$5,847.87	0.70	\$4,093.51
							Entity Total:		\$4,093.51
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$4,093.51
McCook									

Marshall									V =,: 00:00
mai Silali									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,092	2,675	9	4,776	\$5,970.00	\$122.13	\$5,847.87	0.70	\$4,093.51
							Entity Total:	:	\$4,093.51
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,093.51
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,756	4,093	8	6,857	\$8,571.25	\$172.02	\$8,399.23	0.70	\$5,879.46
							Entity Total:	:	\$5,879.46
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,879.46
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

9/2015	1,205	1,417	1	2,623	\$3,278.75	\$78.17	\$3,200.58	0.70	\$2,240.41
							Entity Total:	:	\$2,240.41
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,240.41
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	4,996	17,414	160	22,570	\$28,212.50	\$592.46	\$27,620.04	0.70	\$19,334.03
							Entity Total:	:	\$19,334.03
							Adjustment	:	\$0.00
							Total Amou	nt:	\$19,334.03
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	632	600	0	1,232	\$1,540.00	\$30.82	\$1,509.18	0.70	\$1,056.43
							Entity Total:	:	\$1,056.43
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,056.43
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,158	1,535	2	2,695	\$3,368.75	\$67.77	\$3,300.98	0.70	\$2,310.69
							Entity Total:	:	\$2,310.69
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,310.69
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2015	55,778	138,184	1,415	195,377	\$244,221.25	\$5,143.42	\$239,077.83	0.70	\$167,354.48
							Entity Total:	:	\$167,357.11
							Adjustment	:	\$0.00

Total Amount: \$167	7,357.11
---------------------	----------

		_
М	00	d٧

Wicody										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	1,668	4,365	10	6,043	\$7,553.75	\$175.07	\$7,378.68	0.70	\$5,165.08	
							Entity Total	:	\$5,165.08	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$5,165.08	
Pennington										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	33,673	69,345	429	103,447	\$129,308.75	\$2,674.83	\$126,633.92	0.70	\$88,643.74	
							Entity Total	:	\$88,643.74	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$88,643.74	
Perkins										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	1,786	2,408	6	4,200	\$5,250.00	\$114.88	\$5,135.12	0.70	\$3,594.58	
							Entity Total	:	\$3,594.58	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$3,594.58	
Potter										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	1,531	1,651	4	3,186	\$3,982.50	\$79.67	\$3,902.83	0.70	\$2,731.98	
							Entity Total	:	\$2,731.98	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$2,731.98	
Roberts										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
9/2015	4,224	4,483	6	8,713	\$10,891.25	\$239.77	\$10,651.48	0.70	\$7,456.04	
							Entity Total	:	\$7,456.04	

Adjustment:	\$0.00

Total Amount: \$7,456.04

9/2015

Gariborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	1,018	1,766	0	2,784	\$3,480.00	\$69.62	\$3,410.38	0.70	\$2,387.27
							Entity Tota	:	\$2,387.27
							Adjustmen	::	\$0.00
							Total Amount:		\$2,387.27
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,367	4,437	6	6,810	\$8,512.50	\$170.48	\$8,342.02	0.70	\$5,839.41
							Entity Total	:	\$5,839.41
							Adjustmen	::	\$0.00
							Total Amount:		\$5,839.41
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	816	2,121	8	2,945	\$3,681.25	\$75.49	\$3,605.76	0.70	\$2,524.03
							Entity Total	:	\$2,524.03
							Adjustment: Total Amount:		\$0.00
									\$2,524.03
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	901	1,085	1	1,987	\$2,483.75	\$49.69	\$2,434.06	0.70	\$1,703.84
							Entity Total	:	\$1,703.84
							Adjustment: Total Amount:		\$0.00
									\$1,703.84
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

14

0

3

17

\$21.25

\$0.43

\$20.82

0.70

\$14.57

							Adjustment	\$0.00	
							Total Amount:		\$14.57
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,810	3,740	19	6,569	\$8,211.25	\$171.30	\$8,039.95	0.70	\$5,627.97
							Entity Total	:	\$5,627.97
							Adjustment	:	\$0.00
							Total Amount:		\$5,627.97
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,698	5,769	12	8,479	\$10,598.75	\$213.66	\$10,385.09	0.70	\$7,269.56
							Entity Total	:	\$7,269.56
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,269.56
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	3,756	11,675	50	15,481	\$19,351.25	\$448.43	\$18,902.82	0.70	\$13,231.97
							Entity Total	:	\$13,231.97
							Adjustment	:	\$0.00
							Total Amount:		\$13,231.97
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	2,546	3,542	9	6,097	\$7,621.25	\$154.13	\$7,467.12	0.70	\$5,226.98
							Entity Total	:	\$5,226.98
							Adjustment:		\$0.00
							Total Amou	nt:	\$5,226.98
Yankton									

Entity Total:

\$14.57

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2015	6,770	14,546	26	21,342	\$26,677.50	\$546.46	\$26,131.04	0.70	\$18,291.73
							Entity Total:		\$18,291.73
							Adjustment	::	\$0.00
							Total Amou	int:	\$18,291.73
Totals	272,718	545,540	3,954	822,212	\$ 1,027,765.00	\$ 21,590.94	\$1,006,174.06		